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1- If the sequence x(n) has the following properties:

X(0)=0, x(I)=x(2)=1
where: | x(n)=x(n-1)+x(n-2)-x(n-3) for n>=3
Then, find x(100), by regression or simulation method. 10%
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3- In the following chaotic system: 10%
X(w+1)=4 r x(n) [1-x(w)]
If 7=0.7, find the attractor of this chaotic system by simulation or direct
computation. <
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4- Simulate the normal distributed random variables (NI, N2) by using Box- /%
Muller methed from the following pair of uniform distributed
variables: (UI,UJ)-(I.Q.O.J) (Hint: See page 78 use Eg. 4.1)
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Simulate the Gamma distributed random variables, G, withT"(n, 1) for n=d,
A=0.25 fm-lielblblvhgnll’or-wm"dlmwﬂ.l)
UI=0.80, U2=0.90, U3=0.71, U3=0.72
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6- Two independent uniférm random numbers with U(0,1) are given in the
binary form as below: U1=0.01010110
U2=0.11010101
Simulate the binomial distribution B(8,1/2) random variables, X1, from Ul and
X2, with B(8,1/4) from Ul and U2. 10%
(Hint: See page 83) X1= Lt
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4=0.9 from the following uniform random variables:
Ul= 0.9, U2= 0.7, U3= 0.8, Ud= 0.4 (Hing: Soe pige 84)
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(Hint: See page 93 Eq. 5.4) / ' 10%
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9- Use the

method to simulate random variables X from U(0,1).
Where the p.d.f of X has Caushy distribution as follows

f=1/x(1+x?), - 00< y< 0o
Also, find the value of X when U=0.75
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